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Warm up:

Solve.
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HW Solutions
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2) 2/3
3) 8/9
4) 11

5) 17/14

6) 27/2
7) 5/7

8) -34/19
9) -39/8
10) -12




September 20, 2021

> = 2 J—éxjv\(f - Fwc= 2
TS YIER




September 20, 2021

B o4 AR S
==
— (O 2R -22 " -X




September 20, 2021




September 20, 2021

> _b{-xazcgcr( N=-2
=27
—Hc— (S —-SC=-=N

—1 s
"‘.?é = 3
- /c( = 3_‘1‘
= (<7

=~?
X I




September 20, 2021

B (e 2D - S D + 2eBY<(3
4R TIOKtIS $Bele 13

—Xf‘/'f_l‘?
<=1
— (=

=~




September 20, 2021

@ _ 352 D-G(3ci =5
:V% + 10— S— (B \';}\i'f:"j




September 20, 2021




September 20, 2021

B g2+ =- 1|
H - S (E=-1I

- + 2= -
$<13374d




September 20, 2021

Educreations Presentations
4 points
4 - accurately solved a multi-step equation

which incorporated the distributive property
and negative numbers

3 - minor calculation errors, missed one of the
criteria

2 - several calculation errors, missed more
than one of the criteria

1 - major errors, missing more than one of the
criteria
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